Channel Enabled, Hold=35, Fit Intercept vs 18*Chip+Chan
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Disabled 0, Hold=35, Fit Intercept vs 18*Chip+Chan
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Disabled 1, Hold=35, Fit Intercept vs 18*Chip+Chan

200

-200

-400

-600

E (1 ]
L P.® *®
- ﬁ % .
o Tie '
¢ ' 4 " 3 Y
® .’:;:o s {‘ °
o ® 1:’;r o ° ® 1.". !ﬁ!:'
Y o w

o

20 40 60 80 100 120 140 160 180 200 220

Disabled 1, Hold=35, Fit Slope vs 18*Chip+Chan
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Disabled 2, Hold=35, Fit Intercept vs 18*Chip+Chan
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Disabled 2, Hold=35, Fit Slope vs 18*Chip+Chan
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Disabled 3, Hold=35, Fit Intercept vs 18*Chip+Chan
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Disabled 3, Hold=35, Fit Slope vs 18*Chip+Chan
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Disabled

4, Hold=35, Fit Intercept vs 18*Chip+Chan
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Disabled 5, Hold=35, Fit Intercept vs 18*Chip+Chan
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Disabled 5, Hold=35, Fit Slope vs 18*Chip+Chan
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Enables off, ADC Mean vs 18*Chip+Chan |
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Enable 0, Hold=35, DAC=0, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=0, ADC Noise vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=400, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=400, ADC Noise vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=800, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=1200, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=1600, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=1600, ADC Noise vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=2000, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=2000, ADC Noise vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=2400, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=2800, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=3200, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=3200, ADC Noise vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=3600, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=4000, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=4400, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=4400, ADC Noise vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=4800, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=5200, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=5600, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=5600, ADC Noise vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=6000, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=6400, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=6800, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=7200, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=7600, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=8000, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=8400, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=8800, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=9200, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=9600, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=10000, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=10400, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=10800, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=11200, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=11200, ADC Noise vs 18*Chip+Chan

600

500

400

300

;

+{»H’

200

@~

100

||||||||||||||||||||||||||||||
—@—

o
)
o
N
o

o
N [
i £
r 2
®

60 80 100 120 140 160 180 200 220



Enable 0, Hold=35, DAC=11600, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=12000, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=12400, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=12800, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=13200, ADC Mean vs 18*Chip+Chan
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Enable 0, Hold=35, DAC=13600, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=0, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=400, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=800, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=1200, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=1600, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=2000, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=2400, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=2800, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=3200, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=3600, ADC Mean vs 18*Chip+Chan

;O o:c g .Q ‘}
8000 @ e [ o

B °e o0 ¢ ¢ ®e ° °
6000|—
4000 [—
2000 |—

0fugY  Cagw w L
- e i W WM
=1 1 1| | 11 1 | 11 1 | 11 1 | 11 1 | 11 1 | 11 1 | 11 1 | 11 1 | 11 1 | 11 1 | 11 1

0 20 40 60 80 100 120 140 160 180 200 220

Enable 1, Hold=35, DAC=3600, ADC Noise vs 18*Chip+Chan

400

350

300
250
200
150

100

*

@

®
@

50

0
0

)
o
N
o

60 80 100 120 140 160 180 200 220




Enable 1, Hold=35, DAC=4000, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=4400, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=4800, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=5200, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=5600, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=6000, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=6400, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=6800, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=7200, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=7600, ADC Mean vs 18*Chip+Chan

20000
[ )
o o ® g
o0 .". ‘. :‘
[ ] ® ® (]

o009 ®
15000 o

10000

5000

s
2

0 20 40 60 80 100 120 140 160 180 200 220

Enable 1, Hold=35, DAC=7600, ADC Noise vs 18*Chip+Chan

450

400

350

300

250

200

—@—
—@—
——=
——

150

L

100

50

III|IIII|._IH:‘L,I_L|II|IIII|IIII|IIII|IIII|IIII|IIII

O0 20 40 60 80 100 120 140 160 180 200 220




Enable 1, Hold=35, DAC=8000, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=8400, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=8800, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=9200, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=9600, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=10000, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=10400, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=10800, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=11200, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=11600, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=12000, ADC Mean vs 18*Chip+Chan
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1, Hold=35, DAC=12400, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=12800, ADC Mean vs 18*Chip+Chan
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Enable 1, Hold=35, DAC=13200, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=0, ADC Mean vs 18*Chip+Chan
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e 2, Hold=35, DAC=400, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=800, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=1200, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=1600, ADC Mean vs 18*Chip+Chan

4000

®
)
e
°
|
®

3000

2000

1000

- ey
ey Y

-1000

o

20 40 60 80 100 120 140 160 180 200 220

Enable 2, Hold=35, DAC=1600, ADC Noise vs 18*Chip+Chan

14

12

KB .
I||L|II||"|| l" ' - |||"' |ﬂ"|||l ||I|f||| ;

: + __ i, ! gl + ||

0 20 40 60 80 100 120 140 160 180 200 220



Enable 2, Hold=35, DAC=2000, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=2400, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=2800, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=3200, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=3600, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=4000, ADC Mean vs 18*Chip+Chan
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Enable 2,

Hold=35, DAC=4400, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=4800, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=5200, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=5600, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=6000, ADC Mean vs 18*Chip+Chan
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Enable 2,

Hold=35, DAC=6400, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=6800, ADC Mean vs 18*Chip+Chan

18000
16000
14000

4
S o ¢ ® o
oo, ¢ ° et Te, e,

o
S
°
°
L

12000
10000
8000
6000
4000
2000

0 -y"MM"*-»"M

-2000

-4000

20 40 60 80 100 120 140 160 180 200 220

o

Enable 2, Hold=35, DAC=6800, ADC Noise vs 18*Chip+Chan

400

350

300

250

200

150

100

I IIII|IIII|IIII|IIII|IIII|IIII|III
o —@—
—@—
o —@—
—o—
- | =
— =0
|—.—|;._|
—@—
R
o

0 20 40 60 80 100 120 140 160 180 200 220



Enable 2, Hold=35, DAC=7200, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=7600, ADC Mean vs 18*Chip+Chan

20000

15000

10000

5000

-5000
0

I.O.f¢o..., ':.
‘.. ° o ®

T 1
o
)
[
o
.

-\\.}'\u.,,

|

20 40 60 80 100 120 140 160 180 200 220

Enable 2, Hold=35, DAC=7600, ADC Noise vs 18*Chip+Chan

400

350

300

250

200

150

100

0 20 40 60 80 100 120 140 160 180 200 220

II|IIII|IIII IIII|IIII|IIII|IIII|IIII|III

—@—
—@—

—y @

— g

e
—@—

.




Enable 2, Hold=35, DAC=8000, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=8400, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=8800, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=9200, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=9600, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=10000, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=10400, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=10800, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=11200, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=11600, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=12000, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=12400, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=12800, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=13200, ADC Mean vs 18*Chip+Chan
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Enable 2, Hold=35, DAC=13600, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=0, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=400, ADC Mean vs 18*Chip+Chan

2000

1500

1000

500

-500

OrTT7

III|IIII|IIII|.|III|

op .égw
w T W

20 40 60 80 100 120 140 160 180 200 220

Enable 3, Hold=35, DAC=400, ADC Noise vs 18*Chip+Chan

12

10

oL ||u.||‘ ||||"| ||| ‘" Il..| | .\ i
'Fi:iiiiiillql b I "i,;:.lul;::.'.! A

i

0 20 40 60 80 100 120 140 160 180 200 220



Enable 3, Hold=35, DAC=800, ADC Mean vs 18*Chip+Chan

2000

1500

1000

500

-500

o

g

>
o T Ry N %

20 40 60 80 100 120 140 160 180 200 220

Enable 3, Hold=35, DAC=800, ADC Noise vs 18*Chip+Chan

12

10

L |H||"|::§i| | '!11" "" "

a0 i i
jil || Ly

R

0 20 40 60 80 100 120 140 160 180 200 220




Enable 3, Hold=35, DAC=1200, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=1600, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=2000, ADC Mean vs 18*Chip+Chan

5000

4000

S
®
e

3000
2000

1000

oo YN e g Ve

III|IIII|IIII|IIII|II.I|III

°

%

e
°
°
®
°
°

P#
]

0 20 40 60 80 100 120 140 160 180 200 220

Enable 3, Hold=35, DAC=2000, ADC Noise vs 18*Chip+Chan

70

60

50

40

30

20

IIII|IIII|IIII|IIII|IIII|IIII|III
——
—@—
— =

— [
O _I 1 1 | 1 1 | | 1 1 1 | 1 1 | | 1 1 1 | 1 1 | | 1 1 | | 1 1 | | 1 1 | | 1 1 | | 1 1 | | 1 1 1
0 20 40 60 80 100 120 140 160 180 200 220



Enable 3, Hold=35, DAC=2400, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=2800, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=3200, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=3600, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=4000, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=4400, ADC Mean vs 18*Chip+Chan

12000 =
B ® Y
- .0 o ()
100002—.'~.. . ® ....‘ " Q‘
N ®e
8000 |—
6000:—
4000 |—
zooo:—
o o™
e e e e
_III|III|II|||II|III|II||||||III|III|III|III|III

0 20 40 60 80 100 120 140 160 180 200 220

Enable 3, Hold=35, DAC=4400, ADC Noise vs 18*Chip+Chan

400

350

300

250

200

150

100




Enable 3, Hold=35, DAC=4800, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=5200, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=5600, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=6000, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=6400, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=6800, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=7200, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=7600, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=8000, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=8400, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=8800, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=9200, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=9600, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=10000, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=10400, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=10800, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=11200, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=11600, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=12000, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=12400, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=12800, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=13200, ADC Mean vs 18*Chip+Chan
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Enable 3, Hold=35, DAC=13600, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=0, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=400, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=800, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=1200, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=1600, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=2000, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=2400, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=2800, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=3200, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=3600, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=4000, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=4400, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=4800, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=5200, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=5600, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=6000, ADC Mean vs 18*Chip+Chan

16000

eodqe o .. °o‘

o9 % "‘p ®

14000 — o

G %o
12000
10000
8000
6000
4000

2000

II|III|III|III|III|III|II‘|III|

0

;
|

T

l_ll

-2000

20 40 60 80 100 120 140 160 180 200 220

Enable 4, Hold=35, DAC=6000, ADC Noise vs 18*Chip+Chan

450
400
350
300
250
200

150

t#%§ !

é §§#§

20 40 60 80 100 120 140 160 180 200 220

100

50

II‘|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III

0
0




Enable 4, Hold=35, DAC=6400, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=6800, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=7200, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=7600, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=8000, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=8400, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=8800, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=9200, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=9600, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=10000, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=10400, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=10800, ADC Mean vs 18*Chip+Chan

- ° o
25000 |— eo®qoe o °
® ® ° C 4
L .Qoo.‘ % s ®
20000:—
15000:—
10000:—
5000:—
O SRR e ST AR I o s
_III|III|III|III|III|III|III|III|III|III|III|III

0 20 40 60 80 100 120 140 160 180 200 220

Enable 4, Hold=35, DAC=10800, ADC Noise vs 18*Chip+Chan

400

350

300

250

200

150

100

50

III|IIII|IIII ‘III|IIII|IIII|IIII|IIII|I
—@—
—@—
—@—
—

O - A . P N R N N N N TGS NS QUG S S

0 20 40 60 80 100 120 140 160 180 200 220




Enable 4, Hold=35, DAC=11200, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=11600, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=12000, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=12400, ADC Mean vs 18*Chip+Chan
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Enable 4, Hold=35, DAC=12800, ADC Mean vs 18*Chip+Chan

30000 () o
° o0 4. .o ° °o

25000
20000
15000
10000

5000

III|IIII|IIII|IIII|IIII|I|‘I|II

0 20 40 60 80 100 120 140 160 180 200 220

Enable 4, Hold=35, DAC=12800, ADC Noise vs 18*Chip+Chan

200
180
160
140
120
100

—@—

. f 4 bt

60

+§+

—@—

40

|III|III|_|_U_I||III|III|III|III|III|III|III
— @5

20

O0 20 40 60 80 100 120 140 160 180 200 220



Enable 4, Hold=35, DAC=13200, ADC Mean vs 18*Chip+Chan
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Enable

4, Hold=35, DAC=13600, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=0, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=800, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=1200, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=1600, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=2000, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=2400, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=2800, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=3200, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=4000, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=4400, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=4800, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=5200, ADC Mean vs 18*Chip+Chan
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Enable 5,

Hold=35, DAC=5600, ADC Mean vs 18*Chip+Chan
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Enable 5,

Hold=35, DAC=6000, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=6400, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=6800, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=7200, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=7600, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=8000, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=8400, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=8800, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=9200, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=9600, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=10000, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=10400, ADC Mean vs 18*Chip+Chan
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Enable

5, Hold=35, DAC=10800, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=11200, ADC Mean vs 18*Chip+Chan

30000F**q@e00a°® 04y

000’.00 .OQ‘

25000 &

20000

15000

I|IIII|IIII|IIII|IIIIUIII

10000

5000

-5000

-10000

||T§|

o

20 40 60 80 100 120 140 160 180 200 220

Enable 5, Hold=35, DAC=11200, ADC Noise vs 18*Chip+Chan

350

300

250

200

150

100

o
'—.=’.—|

—
—e—

—@—

50 : ,,!\ v ____ 5.0 @ )

o
O I 1 1 | 1 1 | | 1 1 1 | 1 1 | | 1 1 1 | 1 1 | | 1 1 | | 1 1 | | 1 1 | | 1 1 | | 1 1 | | 1 1 1
0 20 40 60 80 100 120 140 160 180 200 220



Enable 5, Hold=35, DAC=11600, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=12000, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=12400, ADC Mean vs 18*Chip+Chan
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Enable 5, Hold=35, DAC=12800, ADC Mean vs 18*Chip+Chan

30000

25000

20000

15000

10000

5000

-5000

-10000

o

qee000°°0y
°

IIII|IIII|IIII|IIII|IIIIUIII

\
.
° ."

..‘..‘.

20 40 60 80

Enable 5, Hold=35, DAC=12800, ADC Noise vs 18*Chip+Chan

400

350

300

250

200

150

100

50

o
N
o

100 120 140 160 180 200 220

RIS
Vi“lj +

°® °

—@-
@@
@
@

?§Q§: o %

{'{"H

N
o

60 80

100 120 140 160 180 200 220




Enable 5, Hold=35, DAC=13200, ADC Mean vs 18*Chip+Chan
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| Chip 0, Channel 0, Enable 0!, Hold=35, ADC Mean vs DAC | X* / ndf 979/23
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Chip 0, Channel 0, Enable 1, Hold=35, ADC Mean vs DAC | X° / ndf
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Chip 0, Channel 0, Enable 2, Hold=35, ADC Mean vs DAC | X° / ndf
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Chip 0, Channel 0, Enable 3, Hold=35, ADC Mean vs DAC | X° / ndf
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Chip 0, Channel 0, Enable 4, Hold=35, ADC Mean vs DAC |
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| Chip 0, Channel 0, Enable 5, Hold=35, ADC Mean vs DAC
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| Chip 0, Channel 1, Enable 0, Hold=35, ADC Mean vs DAC | X° / ndf 1727 /23
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Chip 0, Channel 1, Enable 1, Hold=35, ADC Mean vs DAC |
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Chip 0, Channel 6, Enable 2!, Hold=35, ADC Mean vs DAC
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Chip 0, Channel 6, Enable 4, Hold=35, ADC Mean vs DAC
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Chip 0, Channel 8, Enable 4, Hold=35, ADC Mean vs DAC
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Chip 0, Channel 9, Enable 2, Hold=35, ADC Mean vs DAC
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Chip 0, Channel 11, Enable 3, Hold=35, ADC Mean vs DAC
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